Herkules

TECHNIK >Z1< FUR MENSCHEN

Operation instruction and inspection log
for
lifting platforms

Machine type . no.: Manuf. no.:
K1600-HLS HLS 1600-11
K1600-HLS HLS 1600-14
K1600-HLS HLS 1600-16

Herkules Hebetechnik GmbH
FalderbaumstraRe 34

D-34123 Kassel
Tel.: +49 (0) 561/58907-0 c €
Fax: +49 (0) 561/58907-34

Email: info@herkules.de
Internet: www.herkules.de 760-062_K1600-HLS 2017.04_2.3 ENG



erkules
TECHNIK FUR MENSCHEN




erkules
TABLE OF CONTENTS TECHNIK FUR MENSCHEN

Table of contents

1 Functional and safety ChECKS.........coii i 5
P C 1T LT = T oY o] s aF= 11 o] o N 6
2.1 Hazard iNfOrmMation ......ooeouiiiii e 6
2.2 Limitation Of HaDIlILY ..........euimiiiii 6
2.3 COPYIIGNT .. 7
2.4 GUAIANTEE TEIMNS ...ttt e et e et e et e e e e e eba e e e e e eba e e e e eaban e eeeeennns 7
P T O 110 [T ST Vo S 7
G T S (0T ¥ Tod i (=TT ox 1o 1o o 1 8
I J0 A o (0] o =T U 1] =P 8
T 1 (U o3 (U PSP 9
3.3 TeCNNICAl LA ... 10
3.4 Product identifiCatiON ......ccooeeieie e 10
4 EC declaration of CONfOrMItY .........ccooviiiiiiiiii e 11
5 General safety INFOrMATION ...........uuuuuiiiiiiiiiiiiiee i 12
5.1  Operator's duty Of CAr€........ccoooiiiiiiiiiii e 12
5.2 DUtieS Of the OPEIALOr.......uuii e 12
5.3 Fundamental safety MEASUIES ..........uuiiiiii i i 13
5.4 Requirements of operating personnel .............oouiiiiiiiii i 14
6 Transport and PreParation .............ccoceeiiiiiiiie e e —————————— 15
G A I = 10 1S o T A1 0 IS 1= ot 1 [ o TN 15
6.2 Prepare @and @ligN ... ... ... . e e 15
6.3 Packaging and diSPOSAI ............uuuuuiiuiiiiiiiiiiiiiiiiiii 15
7 Installation and aSSEMDIY..........uuuuuiiiiiiiiiii 16
7.1 Environmental requirements for installing the equipment....................cceevvvivnnnnnn. 16
7.2  Installation and asSembBIY ........coouuiiiiiii 17
7.3 Installation SUMaCe OF Pt ......uiiiiiiie e e e e e eees 17
7.4  Mounting of the HLS wheel Stands...........ccoouiiiiiiiii e 19
7.5 Electrical grounding, electrostatic Charging ...........cccoevevvviiiiiiiiiiiiieceeee e 22
S T O o =] - 11 0] o PP 23
8.1 Description of the operating elementS.........cooooeeeiii 23
8.2 Working at the lifted VENICIE .......coooieieee 24
8.3 COMIMUSSIONING ..o 24
8.4 OPEIALE ...t 24
8.5 BN OF WOTK ..o 27
S B I (o 18] o] 1= 2] T Yo 1] o 28
9.1 Possible problems and their reSOIULION............couuiiiiiiiii e 28

O I\ =110 (=] F=1 o (ol S TR 29



erkules
TECHNIK FUR MENSCHEN TABLE OF CONTENTS

10.1 Air bags characteristics and durability ...............coovviiiiiiiiiiiiiiiiiee 30
10.2 Notice about filter regulator and air INe.............oooviiiiiiiiiiiiieee 30
10.3 Notice about the sliding area of the SCISSOIS........c.cuuviiiiiiiiiii e, 30
10.4 Inspection points, checkpoints and lubrication service points ............cccceevevvvvnnnnn. 31
11 SAFELY CNECKS....ciiiiiiiiiiiiiiieeeeee ettt 33
11.1 Regular safety ChECKS .........uvuiiiii e 34
12 Additional iINfFOrMATION .........ceiiiiiiiiiiiiiiiiiiiieeee e 35




ge rkules
FUNCTIONAL AND SAFETY CHECKS TECHNIK FUR MENSCHEN

1 Functional and safety checks

Carried out by the manufacturer to the following specifications:
Don’t remove the labels attached on the lift and keep them always readable.
Labels attached:

Type plate
Operating instructions (short form)

Loading capacity

Lifting-UP, Lowering-DOWN

O

O

O

[J Mains pressure
O

[J Company logo
O

CE marking

Function und safety tested:

1 Safety valve set to 3,5 bar operating pressure

_|
(0]
(]
—
D
o

Functional test without load

Anti-drop safety function

Operating valve goes automatically to O setting

No damage on the surface of the airbag

All bearing screws are firmly seated

Scissor bolts secure

Conditions of pneumatic lines (seated firmly and seek proof)
Function of drive-on ramp

Function roll-off safety device

OO0Oo0o0ooOooOoooao

Function center deck

Manuf. no.: see cover sheet .
Herkules Hebetechnik GmbH

FalderbaumstralRe 34
Date: D - 34123 Kassel
Tel.: +49 (0) 561/58907-0
Fax: +49 (0) 561/58907-34

Name:




erkules

TECHNIK FUR MENSCHEN GENERAL INFORMATION

2 General information

The operation instructions and inspection log contain important information regarding the installation, safe,
appropriate and efficient operation and maintaining functional safety.

Their observation helps to avoid risks, reduce repair costs and times of failure and prolong the durability of
the lifting platform.

Function- and safety checks (manufacturer)

Regular safety checks (customer)
This inspection log book contains a log sheet to act as evidence that regular safety checks have been carried

out. You should use this log sheet to make a record of inspections made. (We recommend you to duplicate
the form before the first fill in).

Assembly and inspection
Only trained personnel are allowed to carry out safety work and safety inspections. As a general rule, such
persons are described in this manual as authorized inspectors or technical specialists.

2.1 Hazard information

The following symbols are used to indicate danger points and to highlight important information. An
explanation of their meanings is given. Please pay particular attention to areas of the text containing a symbol
of this nature.

This describes a hazard to life or the danger of severe injury. There is a severe hazard
of mortal injury if the procedure described is not carried out correctly!

This indicates a key function or an important note!

2.2 Limitation of liability

All the information and notes of this operating instruction have been compiled in consideration to prevailing
rules and directives, the actual state of technique and our long standing experience.
The manufacturer assumes no liability for any damage caused by:

Non-compliance of operating instruction
Use not intended by the manufacturer
Assignment of non-authorized personnel
Unauthorized modifications

Disregard of maintenance intervals




erkules
GENERAL INFORMATION TECHNIK FUR MENSCHEN

2.3 Copyright

The operating instructions have to be used confidentially and only by trained personnel. It is not allowed to
forward the operating instructions to third parties without written approval by manufacturer

All written materials, drawings, pictures and additional illustrations are copyrighted
and subject to commercial property rights.

2.4 Guarantee terms

The guarantee regulations can be found in the sales documents as a separate file.

2.5 Customer service
For any further technical information, please contact our Customer Services:

Customer Herkules Hebetechnik GmbH
service: Falderbaumstralle 34
D — 34123 Kassel
Tel.: +49 (0)561 58907-70
Fax: +49 (0)561 58907-34
Email: info@herkules.de




erkules
TECHNIK FUR MENSCHEN PRODUCT DESCRIPTION

3 Product description

3.1 Proper use

The lifting platform for vehicles HLS 1600-11, HLS 1600-14, HLS 1600-16 serves exclusively for the lifting of
vehicles with a total weight according to the technical data. Lifting is allowed exclusively by vehicle standing
on the wheels or at the framework.

You may not raise persons or other objects.

Any work underneath the lifted vehicle during lifting and descending is not allowed.

Only persons having read and understood the operating instructions are allowed to use the lifting platform.
Furthermore, they have to be at least 18 years old.

Vehicles may only be lifted at the designed lifting points (at framework or on the wheels). It is only allowed to
lift vehicles as stated in the operating instructions.

Using the device properly includes reading the instruction manual - in particular the safety instruction.
Furthermore, all inspection and maintenance work should be carried out at the prescribed intervals

If the vehicle-lifting platform is not used in accordance to these instructions, safe operation of the platforms
cannot be guaranteed.

Any other or additional use of the lift is considered to be improper.

The manufacturer is not responsible for any personal injuries or material damage to vehicles as a result of
improper use of the lifting platform!




erkules

PRODUCT DESCRIPTION TECHNIK FUR MENSCHEN

3.2 Structure

The HLS 1600 vehicle lifting platforms consist of a lower frame, an upper frame with telescoping extensions,
folding centre decks, two scissors, a 3-compartment air bag, anti-drop safety function and a control panel.
Two hoses (16 and 6 mm) lead to the compressed air connection.

The air bag implements the lifting movement, which is executed laterally by means of the scissor-type stays.
The scissor-type stays also limit the platform’s lifting height. An anti-drop safety device prevents the lifting
platform from subsiding in the event of air loss.

The vehicle is lifted up completely by means of the telescoping extensions and/or the support arms.

The lifting platform is operated from a control panel, connected to the lifting platform by means of a hose-type
hose. For further information see chapter “Operation”.

Neither electric nor hydraulic power is necessary to operate the vehicle lifting platform. It is operated solely by
means of compressed air.

For further information about the HLS 1600 vehicle lifting platform please see chapter “Technical data”.

Information regarding the structure see chapter “Installation and assembly”.

Picture 1:
Product HLS1600-11

Picture 2:
Product HLS1600-14; -16




ge rkules
TECHNIK FUR MENSCHEN

3.3 Technical data

PRODUCT DESCRIPTION

Subject to technical changes.

HLS 1600-11 HLS 1600-14 HLS 1600-16

Carrying capacity of the lift

3000 kg

3000 kg

3000 kg

Max. Load distribution

3:2 in- or against the driving-on direction

Lifting time of the platform 25 sec.

Lowering time of the platform 30 sec.

Nominal lift of platform 1150 mm 1150 mm 1150 mm
Max. overall height 1300 mm 1150 mm 1150 mm
Min. construction height/ Drive-over 150+10 mm none none
height

Length of lift body 1990 mm

Width of lift body 1130 mm

Length platform 4440 mm 4100 mm 4100 mm
Width platform 2040 mm 1985 mm 1985 mm

Drive

Pneumatically (3 airbags)

Operating pressure for safety valve

3,5 bar

Pneumatic mains connection Pmax

8 bar (supplied by the customer)

Noise load below

<70 dB(A)

Dimension sheet

K 1615-HLS-002-3

K 1615-HLS-004-3

K 1615-HLS-006-3

Installation drawing

K 1607-HLS-003-3
Sheet 1+2

K 1607-HLS-003-3
Sheet 1+2

Fitting frame for concrete
Fitting frame for grid

K 1607-HLS-127-3
K 1607-HLS-128-3

K 1607-HLS-127-3
K 1607-HLS-128-3

Pneumatic circuit diagram

K 1607-HLS-008-3

K 1607-HLS-008-3

K 1606-HLS-028-3
Sheet 3

Parts list pneumatic

K 1607-HLS-008-3

K 1607-HLS-008-3

K 1606-HLS-028-3
Sheet 1+2

Parts list platform

K 1607-HLS-004-3

K 1607-HLS-002-3

K 1607-HLS-006-3

Safety devices

Anti-drop safety device platform Yes Yes Yes
Safety valve Yes Yes Yes
Anti-roll-off safety device for vehicle Yes Yes Yes
Mechanical safety device No Protection frame No
Pneumatic safety device No No Yes

CE-Stop with acoustical warning

The platform stops
120 mm the end of
stroke

3.4 Product identification

The identification of the lifting platform can be found on the type label on the frame of the lift as well as in the
Declaration of Conformity.

Indicati Article no. Year of construction
naications on Machine type Operating pressure
the type label Serial no. Vers.

Loading capacity Net weight

10



ge rkules
EC DECLARATION OF CONFORMITY TECHNIK FUR MENSCHEN

4 EC declaration of conformity

In accordance with Appendix Il A of the EC Machinery Directive (2006/42/EG)

The manufacturer Herkules Hebetechnik GmbH
Falderbaumstrafle 34

34123 Kassel

Responsible for Herkules Hebetechnik GmbH

documentation

Hereby states that the Machine- Type Article- No. Series- No.

machine described Lifting HLS-1600-11 HLS 1600-11 | .oiieeeerierennnreeenns

below Platform HLS-1600-14 HLS 1600-14 | =eereeerenrenmreaneenns
HLS-1600-16 HLS 1600-16 | rrereseeememesssmssenes

Complies with the following
EC Directive: EC Machinery Directive 2006/42/EG

Applicable harmonized standards:

EN 1493 Vehicle lifting platforms

EN ISO 12100-1/2 Safety of machinery

EC type examination No. of inspection certificate
K1600-HLS-11 44 205 12 021011
K1600-HLS-14 44 205 12 021011
K1600-HLS-16 44 205 12 021011

Testing centre TUV Nord Cert GmbH

Kassel, 17.01.2017

Place, Date Dirk Meinzer, Managing Director

11



erkules

TECHNIK FUR MENSCHEN GENERAL SAFETY INFORMATION

5 General safety information

5.1 Operator’s duty of care

The vehicle lifting platforms described in these operating instructions have been designed and built to comply
with the results of a hazard analysis, carefully selected harmonised standards and other technical
specifications to which the device must comply. The lifts therefore correspond to the latest state of technology
and ensure the maximum level of safety.

This level of safety can only be achieved in operational practice if all the necessary measures have been
taken. It is the diligence of the operator of the lifting platform to plan these measures and control their
execution.

In particular, the operator must ensure the following:

e That the lifting platform is used only for the intended purpose see chapter “Product Description”.

e That the lifting platform is operated always in perfect and properly functioning condition, and that in
particular the safety devices are regularly checked for correct function.

e That the place of the control of the lifting platform is designed so that the operator has full visibility on the
lifting platform and the load in all movements and that the operator can overlook the space under the
lifting platform and the load. With poor visibility, the operator must ensure for an adequate lighting.

e That it will be prevented the access to persons in the area of risk (area under the lifting platform and the
load). The work in the area of danger is prohibited. Apart from the maintenance work, see chapter
“Maintenance”

e That the operating instructions are kept in a legible condition, and that they are available, complete, at the
location where the lifting platforms are deployed.

e Those only persons are allowed to use and operate the lifting platform having read the operating
instructions.

e That these persons receive regular instruction in all matters concerning safety work and environmental
protection, and that they are fully aware of the operating instructions, and in particular, the safety
information contained therein.

e That only sufficiently qualified and authorized person are allowed to repair the lifting platform.

e That the safety and warning notices attached to the lifting platform will be not removed, and that they
remain readable at all times.

e That after the use the lifting platform is lowered and the operation is secured against misuse by padlock
(by customer).

5.2 Duties of the operator

The regulations of industrial safety provide some measures for the operator of work equipment for use in
hazardous areas.

The operator must carry out a risk assessment of the area in which the working equipment (lift) is to be used.
The hazards, which can be caused when using the working equipment in conjunction with the agents and the
work environment, should be recognized and taken into account.

The operator shall take the necessary measures and he selects the one resource which is suitable for the
conditions in the workplace and for which safety and health protection are guaranteed when its use is
intended.

To carry out the risk assessment and the selection of appropriate resources the operator must apply national
directives and standards.

12



ge rkules
GENERAL SAFETY INFORMATION TECHNIK FUR MENSCHEN

5.3 Fundamental safety measures

When operating the lifting platform, the prevention against legal accidents in accordance
with BGV A 1 (General Provisions, German law) must be obeyed. For informational
purposes please refer to the regulation BGR 500 (operation of equipment, German law).

gear. Vehicles with automatic transmission put gear selector in “park”.

The operator must always carefully observe the car during the lifting or lowering
process.

The lift and its parts such as air cushion or air bag need to be protected from heat
damage at all times. Damage can occur from welding, sanding or any other process
involving high heat.

Make sure that the front wheels are straightened out position. Before lifting, ensure the
vehicle against rolling. Pull the handbrake and put the transmission in reverse or first

We draw your attention in particular to the following regulations:

Follow the operating instructions during the operating of the lifting platform.
The lifting platform must be used only to lift motor passenger cars

The total weight of the lifted vehicle must not exceed the maximum load capacity, with a maximum
permitted load distribution of 3:2 in or 2:3 against the drive-on direction.

Only employees who are over the age of 18 and who have received full instruction in operating the lifting
platform are authorised to use the lifting platform without supervision.

Apart from the operator, no person is allowed to be within the working area of the lifting platform during
the lifting or lowering process.

No person may be carried either on the lifting platform or inside the vehicle.
Climbing onto the lifting platform or onto the lifted vehicle is prohibited.
The rubber blocks have to be placed onto the biggest plain space. Stacking is not allowed.

Before the vehicle is driven onto the lifting platform, always ensure that there is sufficient space between
low-lying parts of the vehicle and the lifting platform.

Do not make interventions on the lifting platform before maximum lift (no load) is reached and is
supported by the supports.

Ignoring the safety regulations can result in hard personal injury and damage on the
lifted vehicle.

13



erkules

TECHNIK FUR MENSCHEN GENERAL SAFETY INFORMATION

5.4 Requirements of operating personnel

The lifting platform must be operated only by persons who are trained, instructed in its use, and authorised to
do so. Such persons must be well aware of the operating instructions and must act accordingly. The various
levels of authority of operating personnel must be set out clearly.

In addition, special qualifications are required to carry out the following activities:

Activity Realization ‘
Assembly Herkules Customer service technician / trained person

Start-up Herkules Customer service technician / trained person
Instruction Herkules Customer service technician / trained person

Fault clearance Herkules Customer service technician / trained person
Maintenance Herkules Customer service technician / trained person
Servicing Herkules Customer service technician / trained person

Repair Herkules Customer service technician

Disassembly Herkules Customer service technician / trained person

Apprentices are allowed to work at the lifting platform only when supervised by an experienced person.
Written confirmation must be provided that the machine induction process has been completed.

Only persons who have completed such induction may operate the control and safety devices.

All persons carrying out any activities on the lifting platform must read the operating manual and confirm, by
means of a signature, that they have understood the operating instructions.

14



ge rkules
TRANSPORT AND PREPARATION TECHNIK FUR MENSCHEN

6 Transport and preparation

Be cautious when bringing the pallet with the lifting platform and the telescoping arms to the installation site.
Use suitable transportation device.

@ Loading capacity of suitable subsides > dead weight of lift (see technical data).

6.1 Transport inspection

Check the lift after receipt of the shipment for completeness and shipping damage.
In Case of apparent damage, proceed as follows:

e Letthe goods and the packaging remain unchanged. Don’t use the product.

e Contact immediately the customer service

Customer Service: Herkules Hebetechnik GmbH
Falderbaumstralle 34
D — 34123 Kassel
Tel.: +49 (0)561 58907-70
Fax: +49 (0)561 58907-34
Email: info@herkules.de

@ Please return damaged goods only after having talked to Customer Services!

6.2 Prepare and align

Place the parts in that way that the air hoses show to the air supply. Remove the foil and transport lock.
Couple the control panel (lever valve in accessories) with 16 and 6mm rubber hoses to the lifting platform.
Use enclosed hose clamps.

Install the telescoping extensions to the ground symmetrically to the platform. Please see installation
instruction and chapter “Installation surface or pit” of the manual.

Then lower the upper frame of the lift completely, position the lift and fix it to the concrete floor or the
supporting construction, see chapter “Prepare and align”.

6.3 Packaging and disposal

Remove the foil and transport lock. Dispose packaging material correct and environmentally fair. Do not burn
up packaging materials.

15



ger_kules
TECHNIK FUR MENSCHEN INSTALLATION AND ASSEMBLY

7 Installation and assembly

For the installation of this product the following safety measures have to be observed strictly to prevent
severe personal injuries, damage to the machine and other material damage.

e Only qualified persons, who follow the safety instructions, may carry out the installation work.
e Before starting assembly work, check the lifting platform for transport damage.

e Make sure that only authorized persons are in the working area, and that no other persons can be put
at risk by the installation work.

¢ All machine connections (hoses) — must be laid in such a way that they cannot cause a stumbling
hazard.

e Also read the chapter “General Safety Information”.

7.1 Environmental requirements for installing the equipment

The lifting platform is suitable only for dry indoor use.

The installation site of the lifting platform must be horizontal and flat (according to DIN 18202), furthermore
the floor base on which the platform will be used has to be sufficiently strong to support the allowed maximum
weight of the platform.

The operator of the lifting platform is responsible for the selection of the mounting place.

The lifting platform must be used only in a temperature range of 5°C to 65°C. Regard the dimensions of the
platform specified in the chapters “Technical data” and “Additional information” when choosing the place
for the installation (observe the dimensions with an elevated vehicle).

An adequate height of the ceiling must be provided (minimum total height of the lifting platform plus the
height of the vehicle). Furthermore, in closed premises it is required to maintain sufficient minimum distance
to the walls or other equipment, to escape routes, etc. (according to country-specific standards and
workplace regulations) to ensure safe working. On the installation side sufficient lighting (according to
country-specific standards and workplace regulations) must be provided.

When operating the platform the operator must have a clear view of the hazard area.
To use the lifting platform, at the place of installation there must be a connection to the compressed air for R1

/ 2 with 8 bar pressure network. Connect the compressed air from the customer with the connection of the
control unit.

Use only dry and non-oily compressed air! A filter control system must be
provided on the main line (air filter and water separator)!

16



erkules

INSTALLATION AND ASSEMBLY TECHNIK FUR MENSCHEN

7.2 Installation and assembly

Bring the lift and the HLS wheel stands on the pallets with a suitable conveyor to the installation side. Place
the parts on the ground that the air hoses point towards the air supply.

Remove the plastic film and the transport securing devices. Dispose the packing material in an environmental
friendly and professional way. Don’t burn them!

Connect the control unit (hand valve lever packed with the accessories) to the 16 mm and 6 mm hoses and
the platform. Use the supplied hose clamps and connection pieces. Clip the compressed air hose (supplied
by the customer) with the coupling socket NW7 on the lever valve. Charge the platform on the pallet with air
until the safety catch has slipped over the last tooth. Release the lever valve.

Bring the HLS wheel stands to the platform and assemble it, see chapter “Electrical grounding and
electrostatic charging”.

After the assembling of the wheel stands, raise the platform with a suitable lifting device as much on the
cross beam that the lower frame rests on the ground. Remove the pallet and lower down the platform.
After that align and fix the lift, see chapter “Installation surface or pit”.

7.3 Installation surface or pit

The lift has to be placed on a flat ground or on a supporting construction with sufficient stability.

The installation surface and the foundation have to be designed for maximal critical load, even in unfavorable
operation conditions. When installing the lift on intermediate ceilings the permissible floor load has to be
observed.

For the installing of the lift in a pit, (in-ground lift HLS1600-14 or HLS1600-16) proceed according to the
indications of the dimensional drawing and the installation plans of the manufacturer (see chapter
“Additional information”).

Configure the protection frames as described below:

Remove the angle brackets off the end pieces of the frame. Put down all the pieces as shown on the drawing
(see as well “Additional information“) and screw them with each other according to detail ,X“. Protect the
frame against sliding away when grouting. The dimensional accuracy of all internal dimensions has to be
ensured

_ Before Afterwards
End pieces of the frame Protection frame

Angel —— -,;l ' ——

il : - 1 !
H— | —— - LA

Pic. 3: Fitting protection frame

The place of installation has to be prepared according to the installation plan. Respect the correct driving
direction. Connect the hand lever valve to the air hoses, & inside: 6 mm and 16 mm, at the front side with
(see as well chapter “Operation™).

17



ger‘kules
TECHNIK FUR MENSCHEN INSTALLATION AND ASSEMBLY

Bild 4: Fixation to the foundation

Fixation of the lift
HLS1600-11, HLS1600-14, HLS1600-16

Align the lift, drill out, sufficiently deep, 6 holes with a diameter
of 16mm from the lower frame. Remove the dust then screw
the lift with 12x100 screws, washers 13 and dowels S16
(accessories).

Drill holes

Fixation of the operating element

Assemble the operating element to the wall, a support or on the floor (foot valve) according to the locality.
If necessary, cut the hoses. As needed, protect the hoses with bridging tracks (not included in the scope of
delivery).

When choosing the place to locate the operating element, ensure that operators have
a clear view of the lifting platform and of the vehicle being lifted or lowered.

Connect the air supply, supplied by the customer (Pmax = 8 bar) to the operating valve. A filter control system
must be provided on the mains line (air filter and water trap).

@ Use only dry and non-oily air.

18



ge rkules
INSTALLATION AND ASSEMBLY TECHNIK FUR MENSCHEN

7.4 Mounting of the HLS wheel stands

The upper frame of the lift has longitudinally guide rails on both sides. From both front ends of the lift the HLS
wheel stands are inserted in these rails and fixed with screws, washers and nuts.

HLS1600-14; HLS1600-16 (in-ground lifts)

Fix the HLS wheel stands with screws, washers and nuts to the upper frame of the lift body.

Insert all lateral screws form the side of the lift body and screw them with nuts from the outside. On the front
side insert the screws from the side of the wheel stands (see pic. 5).

Mounting material, see assembly diagram and parts list on page 30.

S/

Lift body

|
i Nuts Grids
Washers
Screws !
M12x35  (M16,17) @ | Wheel 1l
stands
+—
Screws
16x35

Locking nuts g
Washers (M12, 13) J

Pic. 5: Mounting of the wheelstands

Fix the roll-off protection (4x) with the fixing material packed with the accessories of the lift after having
fastened the HLS wheel stands to the lift.
Only then insert the grids.

Mounting of the roll-off protection for the protection of the vehicle against absolutely
necessary.

Insert springs

Screws M8x30
7 . — Washers 8,4
— Locking nuts M8

Pic. 6: Mounting of the roll-off protection

19



ger_kules
TECHNIK FUR MENSCHEN INSTALLATION AND ASSEMBLY

HLS 1600-11 on-ground
Wheel stand driving-on side
Fasten the wheel stands at the side of driving on the lift with screws, washers and nuts and connect the

driving-on ramps to the supports after having fastened the supports with screws to the wheel stands.
Fixing material see assembly diagrams (pic. 7, 8).

Screws Locking nut M12
M12x35 Washer 13 l = |
= -4 Screw M10x30
] Locking nut M10
vt Washer 10,5

v

T T [

Locking nut M16 - -
Washer 17 Screws M16x35 _

Pic. 7: Mounting wheel stands drive on side

Wheel stand with roll-off protection (side with stop)

Fasten the wheel stand at the side with the stop with screws, washers and nuts and fasten the roll-off
protection to the wheel stand.

Fastening parts
see pic. 8

Screw = - -
M10x30

Locking nut o 0

M10 ¢ ¢

Washer 10,5 L

Pic. 8: Mounting wheel stands side of stop

20



ge rkules
INSTALLATION AND ASSEMBLY TECHNIK FUR MENSCHEN

Center decks

Hook the center decks on both sides into the lift. The clearance between the wheel stands and the center
decks can be reduced by washers.

Washers 17 for
the adjustment

Pic. 9: Hooking in the center decks

Commissioning

The commissioning can be carried out according to chapter “Operation” of the manual.

21



gerkules
TECHNIK FUR MENSCHEN INSTALLATION AND ASSEMBLY

7.5 Electrical grounding, electrostatic charging

When installing the lift HLS1600-14 or HLS1600-16 in hazardous areas, all metal parts have to be grounded
to prevent electrostatic charging. Components for the grounding are not included in the scope of delivery of
the lift. They must be ordered separately as accessories from the manufacturer.

All installed and removable parts, even the inserted grids, have to be grounded for safety
reasons. The grounding must be reliable and durable and resist the expected demands.
Pay attention to a positive locking connection of the parts.

each other by electrical bridges to exclude any kind of electrically insulated layers. Paint

@ Metal parts of the equipment are held to be conductive and have to be grounded with

and powder coatings rust and grease are considered as different layers.

Detailed information from the manufacturer on request:

@
Wire with cable lug Wire with cable lug
Screw Sheet-metal screw
Serrated washer Serrated washer
Nut Bracket
Pic. 10a: Grounding connection at the lift Pic. 10b: Grounding connection
body/center of the wheel stand to the grid

Indications for the grounding:

All grids have to be connected reliably to the lift body/wheel stands and to each other. The corresponding
parts are packed with the accessories.

The grounding cable from the inserted grids to the grounding connection of the lift body has to be
connected correctly (metallic contact).

The compressed air lines from the lift have to be fixed in a distance of 50 cm with hose clamps to the
steel construction.

The grounding wire from the lower frame of the lift has to be properly connected and grounded to the in-
house connection of the grounding (e.g. metal construction at the paint booth).

All components of the lift must be examined before the installation and after any maintenance for
sufficient grounding.

When operating the lift, make sure that wear, dirt, dust deposition or changes in the chemical and
physical properties do not affect the explosion protection.

Consult a qualified electrician if you don’t understand the grounding instructions.

22



erkules

OPERATION TECHNIK FUR MENSCHEN

8 Operation

When operating the lifting platform, the following safety instructions and the safety instructions in chapter
“General safety information” must be followed without exception — this will prevent severe injury to
personnel, damage to the machine and other material damage.

The lifting platform may only be used according for its intended use.
Inform yourself before using the lifting platform on the correct behavior in the case of breakdown.

People who work with the lift must wear safety shoes and be familiar with the
operating instructions.

8.1 Description of the operating elements

foot valve
optional

compressed air supply
from filter regulator

hand valve

shut-off valve after
closing

lifting and lowering
not possible

protection frame

to anti-drop
safety device

pressure gauge

to airbag

Pic. 11: Operating element
The lifting platform is supplied with either a hand-lever valve, or a foot lever valve. The operating valve has

three settings: Lifting, O setting, and lowering. The settings are identified accordingly. A solid frame protects
the operating valve. The pressure gauge indicates the pressure in the air bag.

@ Always observe the safety instructions when operating the platform!

23



erkules

TECHNIK FUR MENSCHEN OPERATION

8.2 Working at the lifted vehicle

Follow the legal regulations for the prevention of industrial accidents.

Make sure that no one is in the space under the lifted vehicle.

It is not allowed to put spare parts or tools on the lifted vehicle or lifting platform.

The load-carrying equipment and the vehicle must not be set into vibration.

Pay attention to the shift of the center of gravity when installing or dismantling heavy parts to or from
the vehicle.

@ Secure the vehicle against tilting.

8.3 Commissioning

Perform the function controls before using the lift:
e Make sure that no persons or objects are in the working area of the lift.
Ensure that the compressed air is available.
Check if the stop valve of the operating element is opened.
Bring the lever of the valve in the position Lift-UP until the platform reaches the maximum height.
Bring the lever of the valve in the position lower-DOWN until the lift stops automatically.
Release the lever of the valve to the position 0 — The lift should stop.
Repeat lifting and lowering several times without load.
The safety catch should engage after every lifting process or in intermediate position on both sides
into the tooth system

Observe the operating instructions for the working places at the lift.
During the operation, only the operating personal is allowed to stay near to the lift.
See as well chapter “General safety information”.

8.4 Operate

The safety measures of the chapter “General safety information” must be read carefully before the
commissioning and strictly observed during the handling.

It is essential that you maintain visual contact with the lifting platform and the vehicle
at all times during the lifting and lowering.

Driving onto and leaving the lifting platform

e Make sure that the platform is at the lower setting, the centre decks are inserted into the wheel
stands and the drive-on ramps are inserted into the holder.

¢ Drive the vehicle onto the lifting platform over the access ramps, wheel stands and the centre decks
positioned between them. Make sure that you do not drive over the anti-roll off safety device at the
front.

e Make sure that the vehicle is located centrally lengthways and crossways on the platform.
Secure the vehicle against rolling back, tighten the hand brake, and put the vehicle into gear.
Drive off the lifting platform in reverse order to the above.

24



erkules
OPERATION TECHNIK FUR MENSCHEN

To raise the lifting platform proceed as follows:

Make sure that the lifting platform can be raised without creating a hazard.

Set the switch lever to “lift-UP” and hold it until the vehicle is fully lifted above the wheels.

Check that the vehicle is securely seated on the lifting platform

Continue the lifting procedure until you reach the required height. Once the required height has been
reached, move the switch lever to the 0 setting. The lifting platform will now remain at this height. If

you let go of the switch lever, it automatically reverts to 0-setting and lifting stops. Lifting ends
automatically once maximum lifting height has been reached.

teeth on both sides at the end of each lifting process (particularly with intermediate

@ While raising, make sure that the anti-drop safety device is safely locked into the gear

positions shorter than maximum lift). This is the case if you hear a clearly audible
"clicking” noise. It is not allowed to perform any activity under the lift while it is loaded
(e.g. with a vehicle).

To lower the lift proceed as follows:

Before lowering the platform, it is essential that you check the hazardous area. No person or object
must remain in the working area of the lifting platform.

Set the operating lever of the operating valve to “Lower” and, while constantly observing the car-lift,
hold the lever in place until the car-lift automatically stops approx. 120 mm above the floor.

The lowering process ends once the lifting platform has reached its initial setting. It is possible to
interrupt the lowering process at any time by moving the switch lever to the 0-setting. If you let go of
the switch lever during the lowering process, it automatically reverts to 0-setting and movement is
stopped

25



erkules
TECHNIK FUR MENSCHEN OPERATION

Anti-drop safety device

- During the lifting process to maximum height, the anti-drop safety device is swivelled downwards. The
shap taps of the anti-drop safety device slides on both sides over the snap cavity on the lower frame.
After stop lifting in an intermediate position the anti-drop safety device has to snap in on both sides for
security.

Image no. 12: lifting up - anti-drop safety device swing in

- During the lowering process in initial position the anti-drop safety device is swung out over the cylinder.
After stop lowering, the snap tabs of the anti-drop safety device fall down immediately.

Image no. 13: lowering - anti-drop safety device swung out upturned

actuated by a possible leaky air duct. In this case, set briefly the levers on
"Lift" again until anti-drop safety device is free. Afterwards, repeat lowering
process.

@ Should the lifting platform not descend, the anti-drop safety device could be

Operate the lifting platform

During the work on the lifting platform, secure the vehicle against rolling off, engage the gear and handbrake.
See section no. 6 ,General safety information®

If the technical condition of the vehicle does not allow like prescribed above, it is possible to use for example
chocks under the wheels (not included in delivery).

Using air jacks or the like on the lifting platform is prohibited.

26



erkules
OPERATION TECHNIK FUR MENSCHEN

8.5 End of work

After completing work with the service lift the following points should be adhered to:
e The service platform must be in the lower end limit.
e Close the main tap of the operating control unit.

e Guard the main tap from unauthorized use with a padlock (not included in delivery).

Diagram 9: Operating unit is safeguarded from unauthorized use

Description \

=

Main tap locked
2 Padlock (not included in delivery)

Requirements of padlocks:
- padlock width: 38-43 mm
- closed shackle height: 28-35 mm

- shackle diameter: max. 6 mm

27



ge rkules
TECHNIK FUR MENSCHEN

TROUBLESHOOTING

9 Troubleshooting

To avoid machine damage or life-threatening injuries while resolving faults with the lifting platform, the
following points must be observed at all times:

e Only attempt to repair a malfunction if you are suitably qualified to perform such work.

e Protect the service lift from unintentional restart by disabling the compressed air supply.

Also read the chapter “General Safety Instructions”.

Secure the upper frame in the lifted position with a stand or a proper support.

9.1 Possible problems and their resolution

Malfunction
Malfunction while lifting

Source of fault
Pressure gauge of the maintenance
unit without bar mains pressure.

Hose lines squashed, bent, or
damaged.

Gauge pressure 1 bar above
allowable pressure of the safety
valve

Rectification of errors
Make sure there is a mains pressure of
Pmax = 8 bar. Open the shut-off valve.

Check the hose lines and if necessary
replace them with new ones.

Check the safety valve for contamination
and replace if necessary.

Malfunction while lowering

Lift platform is resting on top of an
obstacle

Safety catch engaged

Raise the lift platform, remove the
obstacle, and then continue lowering.

For bar mains pressure Pmax = 8 bar
make sure the gear lever is switched to
"Lift" until the safety catch is free.
Afterwards repeat the lowering
movement.

If, despite the above measures, the lifting platform cannot be lifted or lowered, the
customer service department must be notified.

Customer
service:

When
manufacturer.

replacing defective parts,

Herkules Hebetechnik GmbH

FalderbaumstraRe 34

D - 34123 Kassel

Tel.: +49 (0)561 58907-70
Fax: +49 (0)561 58907-34
E-mail; info@herkules.de

always only use original

spare parts from the

28




MAINTENANCE

erkules

TECHNIK FUR MENSCHEN

10 Maintenance

Maintenance work should be carried out at the specified maintenance intervals and only by qualified persons.
Neither water nor flammable liquids may be used during the cleaning process.
To ensure durability and continuous operation of the service lift, the following points should be observed:

@ :

Only spare parts from the original manufacturer and suitable tools may be used.
Regular maintenance intervals must be observed.

For all maintenance work not outlined or explained in this instruction manual, please
contact your supplier or customer service of the manufacturer.

Only perform maintenance when the lift achieves a max. (unloaded), the lift platform is braced with service
supports, and the compressed air supply is disabled!

Maintenance

Points to follow Comments

intervals

Monthly

All moveable parts such as pivot bolts, sliding Only use lubricants that contain
pads, and sliding surfaces should be check for | no adhesive-repelling

wear and tear, cleaned, and lubricated. substances in the area to be
lubricated.

Check air bags and air tubes for any damages.
Visually inspect and check for leaks.

Examine the surface of the air bags for
impurities, then clean, and maintain.

Inspect valves for functionality and check for
leaks.

Check that the dowels are properly fixed.
If necessary re-install or renew the support.

Inspect the maintenance unit (filter regulator,
provided by the customer), and consult the
product manufacturer's instructions.

Yearly

Regular safety check For test protocol see Chapter
(In accordance with 810 ( 2 ) German Plant “Regular safety check”.
Health and Safety regulations)

Replace the safety
valve

After every 2 years of operation.

Every 6 years of
operation

Replace the complete air hoses.

29



erkules
TECHNIK FUR MENSCHEN MAINTENANCE

10.1 Air bellow characteristics and durability

The air bags are a flexible element developed and designed specifically for use in lift platforms. The rubber
covering reduces the aging process and should be especially carefully checked.

Tips for a long operating life:
e Use dry as well as non-lubricated compressed air.
e Protect from UV radiation (i.e. through welding or the use of a UV dryer).
¢ Avoid the use of chemical agents.
e Protect the unit from damage (grooving, etc.).
¢ Adhere to maintenance and care instructions (see chapter “Maintenance”).

Damaged air bags must be replaced. Only original parts from the manufacturer are permitted to be used.

10.2 Notice about filter regulator and air line

The filter regulator is not included in the scope of delivery of the lift platform. A filter regulator must be
installed in the mains connection (provided by the customer). Only dehumidified, non-lubricated compressed
air should be used. Follow maintenance and cleaning of the filter regulator, consult the information and
instructions of the filter regulator manufacturer.

10.3 Notice about the sliding area of the scissors

Due to the design principles of the sliding surfaces of the scissors, great force is exerted. This force can lead
to scoring on the sliding surfaces. However, the function of the service lift will not be compromised. The
maintenance intervals and instructions outlined in the chapter “Maintenance” are to be observed.

30



MAINTENANCE

TECHNIK —= — FUR MENSCHEN

points

Description

bearing pin overhead
(right and left)

10.4 Inspection points, checkpoints and lubrication service

Lubrication and test points
Check the safety washers from both of the bearing pins for proper
fit.
lubricate bearing pin

sliding surfaces of the
scissors (right and left)

Check the sliding surfaces of the scissors for wear.
lubricate sliding surfaces

scissor pins (right and left)

Check that the scissor pins are properly fixed.
Check the safety nuts.

bearing pins below (right
and left)

Check the safety washers from both of the bearing pins for proper
fit.
lubricate bearing pin

sliding pads and guide
rails above (right and left)

Check sliding pads for damage and wear.
Lubricate sliding pads and guide rails.

bearing pin safety catch
(right and left)

Check the safety washers from both of the bearing pins for proper
fit.
lubricate bearing pin

31




ge rkules
TECHNIK FUR MENSCHEN

MAINTENANCE

air bellows

Check air bags for damage.

Check the screws on the air bags reinforcement both above and
below for proper fit.

Treat the surface of the air bags with the appropriate rubber care
product.

sliding pads and guide
rails below (right and left)

Check sliding pads for damage and wear.
Lubricate sliding pads and guide rails.

32




erkules
SAFETY CHECKS TECHNIK FUR MENSCHEN

11 Safety checks

Safety inspection is required to guarantee the operational safety of the service lift.
It should be performed:

Before starting up the lifting platform for the first time by the manufacturer.
The use of which can be found under the section "operation and safety inspection”(chapter “Operation and
safety inspection”).

After the first commissioning, check at regular intervals in accordance to 8§10 (2) BetrSichV (German Plant
Health and Safety Regulations)!

The use of which can be found under the section "regular safety check"(chapter “Regular safety check”).
Document the condition of the service lift in a separate copy and attach it to the operating instructions and
inspection log.

Regular safety checks must be performed by a suitably-trained person. It is advisable
to also implement maintenance at the same time.

33



erkules
TECHNIK FUR MENSCHEN SAFETY CHECKS

11.1 Regular safety checks

(In accordance with 8§10 ( 2 ) German Health and Safety regulations !)
Device type
Serial number

Inspection step

examination

Name plate

Sign with lifting capacity

Sign with bar mains pressure

Operating instructions (abbreviated)

Designation lift - lower

Secure fit of all supporting screws

Safeguard of the scissor pins

condition of the pneumatic lines

safety valve set to 3.5 bar operating pressure

Pressure gauge bar mains pressure Pmax = 8 bar

Control lever returns automatically to the '0' position when
released

Safety catch function

Loading ramps function

Condition of the air bags

Roll-off protection function

Condition of the supporting structure

Functionality of the service lift with vehicle

Functionality bogie

Start-up not permitted, verification required
Start-up possible, faults to be rectified by: ...
No fault, start-up possible immediately

Safety inspection performed on:

Name and address of qualified Personnel ... e

Signature of competent person Signature of operator

With the required rectification of faults

Signature of competent person Signature of operator

34




ge rkules
TECHNIK FUR MENSCHEN

ADDITIONAL INFORMATION

12 Additional information

Assembly drawing HLS 1600-11 (drawing K1607-HLS-004-3)

'Description o. Drawing
1 | Grundkdrper 1 K 1607-HLS-000-3
2 | Ausleger 2 K 1607-HLS-090-2
16 | Senkschraube M12x35 3 Befestigung Ausleger 500-157
18 | Sechskantmutter M12 4 Befestigung Ausleger 600-114
18 | Scheibe 13 5 Befestigung Ausleger 650-113
6 | Sechskantschraube M16x35 6 Befestigung Ausleger 500-103
6 | Sechskantmutter M16 7 Befestigung Ausleger 600-120
10 |Scheibe 17 8 Befestigung Ausleger 650-117
2 | Abrollsicherung/Uberrollschutz 9 K 1600-HLS-089-3
2 | Rampenhalter 10 K 1600-HLS-084-3
2 | Auffahrrampe 11 K 1600-HLS-083-2
2 | Fahrbahn Mitte 12 K 1600-HLS-060-2
2 | Sechskantschraube M12x40 13 Befestigung Pos.16 500-177
16 | Sechskantschraube M10x30 14 Befestigung P0s.9.10 500-099
16 | Sechskantmutter M10 15 Befestigung P0s.9.10 600-110
2 | Arretierung, Sperre 16 K 1600-HLS-085-3
6 | Schraube 12x100 17 Befestigung Fundament 505-125
6 |Dubel S16 18 Befestigung Fundament 810-155
6 | Scheibe 13 19 Befestigung Fundament 660-113

35



ger_kules
TECHNIK FUR MENSCHEN ADDITIONAL INFORMATION

Assembly Drawing HLS 1600-14; HLS 1600-16 (drawing K1607-HLS-002-3)

=

' Drawing Article no.

Pcs  Description

1 Grundkdorper 1 K 1607-HLS-000-3

2 Ausleger Einbau 2 K 1607-HLS-101-3

16 | Sechskantschraube M12x35 3 Befestigung Ausleger 500-157
16 | Sechskantmutter M12 4 Befestigung Ausleger 600-114
16 | Scheibe 13 5 Befestigung Ausleger 650-113
6 Sechskantschraube M16x35 6 Befestigung Ausleger 500-103
6 Sechskantmutter M16 7 Befestigung Ausleger 600-120
6 Scheibe 17 8 Befestigung Ausleger 650-117
4 Ausleger Abrollsicherung 9 K 1600-HLS-115-3

8 Sechskantschraube M8x30 10 Befestigung Pos.9 500-153
8 Sechskantmutter M8 11 Befestigung Pos.9 600-108
8 Scheibe 8,4 12 Befestigung Pos.9 650-105
2 Gitterrost verzinkt 510x1038x40 13 K 1607-HLS-119-3 820-207
4 | Gitterrost verzinkt 376x1037x40 14 K 1606-HLS-116-4 820-016
4 Schutzprofil kompl. 15 K 1606-HLS-112-4 810-223
2 Zwischenleiste 16 K 1600-HLS-120-3

4 Sechskantschraube M8x25 17 Befestigung P0s.16 500-149
4 Sechskantmutter M8 18 Befestigung Pos.16 600-108
4 Scheibe 8,4 19 Befestigung P0s.16 650-105
6 Holzschraube 12x100 20 Befestigung Fundament 505-125
6 Dubel S16 21 Befestigung Fundament 810-155
6 Scheibe 13 grof3 22 Befestigung Fundament 660-113

36



ADDITIONAL INFORMATION

e
TECHNIK

rkules

FUR MENSCHEN

Pneumatic HLS 1600-11; HLS 1600-14 (K 1607-HLS-008-4)

@ ©

©

@

ie 16

i# B

®

- La

Schlauchausgang aus der

Buhne ca. 200mm lang

(5
T

—

eingestellt
auf 3,2 bar

schlguchausqang aus der

Buhne fur 1/2"-Talle

vorbereitet
1050
b ¢ 14

7o

=10 bar
s 1A MY S

Vv S
c
G
Kundenseltige Wartungseinheit =
(Filter u. Wasserabscheider) =

|

o

NS
=

Description

FPmax = 8 bar

' Drawing

Article no.

1 | Operating valve compl. hand control 1 K 1201-036-4 300-249
1 | Operating valve compl. food control 1 K 1201-036-4 300-253
(optional)

1 | Rubber hose inside-16mm 2 720-113
1 | Rubber hose inside- 6mm 3 720-106
1 | Pneumatic cylinder 32x25 4 710-124
1 | Safety valve 3,5 bar 5 700-239
1 | Air bag compl. 6 K 1607-HLS-009-3

1 |Hose cover 8 3/8“ x 16 730-397
2 | Hose clamp 9 16-25/9 720-121
1 | Angle plug connection 10 1/8“ — 6mm, swiveling 730-170
1 |Hose connection tube 11 6-plug on 6-socket 730-138
2 | Hose clamps 12 8- 16/9 720-361
1 | Hose connection tube 6mm/6mm 13 (double socket) 730-318
2 | Hose socket 14 %' x 16mm 730-179
2 |Clip 24-27 15 720-167
2 |Clip11,8-13.8 16 720-176

37



ADDITIONAL INFORMATION

FUR MENSCHEN

erkules

TECHNIK

Pneumatic Plan HLS 1600-16 (drawing K1606-V-028-3BI.3)

@

£ THZ-0ED-S1H-00AL § 4ne

31 TEYIEWS | 10
-l ayaeaal ey

171UBALS T TOH
Bunjramgz

Buny 1eysEn11ayLayats| =

dnz Tpiuaaua 170y w
Bunyte1eBunputglay

. ©

L
=i
===

~
wler |y
Py

AN

S

2y

©

JNE 1] (JBAPLBH

Buny (BYISE TTaYJEYI 1S
Bunyra (efunpuguag

Bunyra 1140 11dneH

¢]

[ +PRTIYIEGRITEERR 1 JF]1T4)
11ayuteebuniuay, abfj1asuapuny

4 F W @H-
z %
w—, L |E m_mu mLm_ur: Azebiunuayaie (84 7 @
- ' Bury1a [rg .
O i —® Lt . A
— % | =
— RO E~ i Ty @ il
& i |
mm..r . @ i Bieqsm .
@ _.._. + m Bunyranz
SIS R o
@mﬁmﬁuc:;m b.lll_ .
&

Qg THHay "a 37[0g

38



ADDITIONAL INFORMATION

e
TECHNIK

rkules

FUR MENSCHEN

Pneumatic HLS 1600-16 (drawing K1606-HLS-028-3Bl.1+2)

Pcs Description No. Drawing Article no.

1 |Bedien-Ventil kompl. Handbetétigung 1 K 1201-036-4 300-249
1 | Bedien-Ventil kompl. FuBbetatigung 1 K 1201-036-4 300-253
1 |3/2 Wege-Ventil 1/2“ 2 300-101
1 |3/2 Wege-Ventil 1/8“ 3 700-144
1 |3/2 Wege-Ventil 1/8“ 4 700-144
1 |3/2 Wege-Ventil 1/8“ 5 700-144
1 | Zweidruckventil 1/8“ 6 700-206
1 |Wechselventil 1/8* 7 700-304
1 | Schnellentliftungsventil 8 700-182
1 | Drosselventil 9 700-305
1 | Druckluftpfeife 10 700-200
4 | Schalldampfer 11 810-151
4 | Steckverschraubung gerade1/8“ax6 12 730-290
10 | Winkel- Steckverschraubung 1/8“ax6 13 730-170
7 | T-Stick 1/8“ax6x6 14 700-128
2 | Verbindungsstuick 15 730-004
1 |Reduzierstick 6 auf 4 16 730-215
1 | Schlauchtiille 9/ 1/2* 17 730-177
1 | Schlauchtiille 16 / 1/2* 18 730-048
1 |Reduzierstick 3/4“auf 1/2" 19 730-191
1 |Rollenschaltventil 2/2 Wege 20 700-100
1 | Pneumatikzylinder 32/25 21 710-124
1 | Schlauchverbindung 6 22 730-138
1 | Sicherheitsventil 3,5bar 23 700-239
1 | Schlauchtiille 16 / 1/2* 24 730-397
1 | Grundplatte 189x395 25 auf K 1600-HLS-030-2

1 |Haltelasche f. Rollenschaltventil 26 auf K 1600-HLS-030-2

2 | Schlauchschelle 8-16/9 27 720-119
2 | Schlauchschelle 16-25/9 28 720-121
2 | Sk Schraube M4x25 8.8 29 530-001
3 | Sk Schraube M4x50 8.8 30 500-251
2 | Senkschraube M5x55 31 500-369
5 | Sk Mutter M4 8 32 600-128
4 | Sk Mutter M5 8 33 600-099
1 | Gummischlauch 16i /4 Wandung 34 720-113
4 | U Scheibe 5,3 35 650-102
1 | Luftbalg kompl.(3-fach) 38 K 1606-HLS-009-3

1 | Gummischlauch 9i x 4 Wandung 39 720-112
1 | Steckschlauch 4 40 720-103
1 | Steckschlauch 6 41 720-107

39



gerkules
TECHNIK FUR MENSCHEN ADDITIONAL INFORMATION

Hand Lever Valve HLS1600 (drawing K 1201-036-4 Blatt 1)

Description . Drawing Article
no.

1 Schutzrahmen 1
1 Handhebelventil 2 YA 700-220
1 | T-Stuck 4 AN 730-068
1 Manometer @340 5 Va“a 735-104
1 Kupplungsstecker 6 Y2‘a NW7,2 730-184
1 | Schlauchtille 7 ' a @13 730-120
1 Kugelhahn 8 Y2‘a 1/2a 760-118
1 Schalldampfer 9 5" a Stahlwolle 810-114
1 Blindstopfen 10 Ye‘a 730-132
1 Reduziernippel 11 Vo'a Va'i 730-151
1 Pedal 18

40



FUR MENSCHEN

erkules

TECHNIK

ADDITIONAL INFORMATION

HLS 1600-14; HLS 1600-16

Bun.Japuy .ELH

N

OJNE_543 | BTN "O5Jf] [ aueN|  unieg
| Z — _ _ wpar el oy Apie vy Aoy
: E-EQ0-5TH-£09 L J| e et el
11910 frerprey axrp ey By asn oug|
009 ¥ -
neqursuolsg uebipung - \

L eV "qaeag

Jn4 ue [dnequ I JFEEE: 7

74-57H 0094 ¥ S G A0 (A _ »
Y I oty 150
¥Z5 GECTIBIE I ZL71 qeisgeu e 4363 sy

800z/€0 ge :B1yng

Jny waBapny -

funjaray abryrasneq
4817 Gi+ OF¢

/mﬂtﬁ@wﬂm}. “43F 3 )UejUagny

3E3 feny ugy usBaring

q-v

0L+031L

211U495

00|

00 00 | 0643 00
= 00% Bunjsray efifjiasnog wung, uiw
GZ § UTU USUYBIUSUYTH 40§ [IYO0SUC19E
............................. | P —— 24—
8k 22
BunJsyars [ [ouqy Jep %
. Bunfir)erag Ay uebie [pny “““ Bunyaray ofi1}iesneg
a ot 14816 [FAUIN SNe I JUBIUO }3F
> 5 \ / rgobe WSHYE JZ JNYT5 JapUF 108 [0
/ S5
_ 3
IR NSNS RN NS FEEFEFA NN SR NN NN NN TN SRR EFEFEE
NI 20 R (T T T T i
[

.Mm .n.U.m. C.ML‘.U-.U_LW LUE
208 YO J4O4sF3T
Lmu__M {U.HWLWQW {=] .ﬂﬁ-v.

7

aGneg pun auyng
WZ ] [BUS JopUSine U

83 7 9 L
m m \ /I_E/f [ 83 FNEfQY CZ SFieLan
/A W
Gy - / W
\\ 8% SN 67y
y \\\\\\ V)
N iy« B
Y K] wepusssea uabog gp veyosB Briyors
o / \ W gy Uiw L.wmmmztukq.a.._cum_ \
oy kR — ogr v (0T LR
_E_EBWMLWQ_QL_{DLLNWI‘__ ~a __.__H_H.mLm.m EmmL.WNVHNmbL.{UM
-3 1Ivyes Syl s =] O WE ) 8F JUSGr..
BURIIBNZ 4] 7 JyoJigat -7 311uyag " JorIveang
- Szl ~ 0Z51 o cacl 7
0607

41



ADDITIONAL INFORMATION

FUR MENSCHEN

erkules

TECHNIK

R PTE] “BEJ] | adey| WnjeQ sy .ﬁ_bm
7 T
B E-E00-STTH-£091 M| L eemies_, 7
1121 G TGRSR LAY i usBe1isey B1i7esneq MPie1S "§OTp wo glUutw pun glguiw ‘sBerineuocisg \
o088 ¥ . x&mm
i
Sug [ D.nm.ﬂc I3 mnm_f_mw;maaﬂ“wéi i uaBiarysa) yse uuaN, weTwaBusBiy yoeu af fryrsenag 3ryelg ‘uabigul g
FL-5TH 009LY
EE:ﬁquBEﬂEEﬂﬂWie
V75 "FEL08035 <3 5744 gElEgEy - [EP— &_ﬂﬂ 5%urﬁiﬂﬂwgﬂﬂ

BO0Z/E0 g :B11109

uBLLRY BB LM
&S]

81UBHUS} NY-uauLng
SS T

C} 11818 3ya1E)
(.BOnJBuDIeg,,)

[I[ 31uetdep

(1 11510 aya1s
3{aualYaT 4 JEpanzIE 1)

[] B1UeTde)

Ue 1dabe 1] ny

| ey

e — -

Qg tutw

i

Vvar il

Ut

001l

L
|

581

=t

0Z51

58C1

(} 11510 5ys1s
a||aualyat/4 Epagz 1e 1)

[ @juetJie)

42



erkules

FUR MENSCHEN

TECHNIK

ADDITIONAL INFORMATION

Fundament Frame HLS 1600-14; HLS 1600-16

- g 517 | g% O | B anyeq Hureedy [y
< E-LEL-5TTH-Z0G | Tormwnes mumr
e E Aoy asp -y Anfmgos L 29
o009 i) o
nequrisuclsg 44 .L.__mlu
BeUE|Os | A I8 w6 08
uswye.Jz 1nyas Juswepun 4 e e THER

3aaTpunaB — g LE-QOE N "3

PULZIaA — | LE-O0E "IN "1dy 2
&L ORIEeN %

¥Z5 BIv03F65 ' |

ST (R B A A
R T PR

i ua1Teysqgloa usbundspuy syosTuYDa] —
i 22 Jnu uagebuegey a1E -

i lekyasabue yaryeuwlady 7 soy

pun

JRRTBJO S0 paRy
} c
Sl 9e1syEy
| §-v 11TU403 7
F -
m _.m | &
_ = x ; =
m ! | 4
T v ,_
Ll qeisyel 7
X 11ayrezury i | 2
5 ¥ |8
[ ) — - — - — - — ] — . — — - - — - — . —l —_—— |- — - — . — - —
[ N H
~ i . )
b _ : 2
v . P
- o : S
o i '
g | | :
o L ) !
et | i f
L “_ tfuzi] D TH b {L
b _1.. |}.. ! ' .___
=k - f : bl —— - o j uapJss uajeysbura
- o i = _ x USISIUD]EE WSO YIBU yINe USSEOW Sgey
. L+ .
BunupJoue juodsued| \/ - Np—— EEHEHE:N.WMNM
by o JowByaia Brigu wues ‘usinud egey e fe
D SuSuSy S30 LSUSTU0JEAGUTT wan oy
BLL TN 13ETqWJO4
B GBZ L “ :m_.thw...._.u_q..
3yars nequanuesny ¥ L

pUBISNZ 43131

060Y

43



ADDITIONAL INFORMATION

FUR MENSCHEN

erkules

TECHNIK

MIIP 5] | T B (o un ey (I TIRED
Be 1 E-BCI-5TH-£09] D) Fomtememrmr
neg Anpry ae Ly Anfaans Lnx g
o094 A R
Bun)sousqlia) 1ty Jnd N upeq ﬁm”ﬁ g e TR R R e
usuye.dz 1nyas yuswepun 4 SO T BL G G Bsran e E @ sy sapo Bunpury sy up Bunapg s agi-., ||
: i ! | geIsgey |
Hu_:ﬂN._m.w - ROE-O0E ! “4N * 1Y @ s B -B-F ] N. —.. ﬂ u_. m_ :
1431pundb - BOE-O0E i “4N"14¥ s Ao Tt S .
V25 7¥TIIEL 7] Z1¢f gelsIsN % JTLR{ITIHFR] 5 T “ A JR4TEZUL]

i W2l 1=e4agdoa Emmr__l_L_m_UE_ﬂ. ayasTuyaIa] -
i "ea Jnu uaqefuegey ae -

¢} Qe1syey
g-sod

Im_/ ~ N il
1 i
o G| ge1sye) W S — ,.\..\le
. | 8- 111us _‘m, o | g
! ks u _ : a ML
i | _‘.\\ /
L'l gelsgey i | ] 3 B .
X 1t8y[azuty :: N el | ¥
L . HEE IT= e
— n e e
0 L M
= T . e, T T T T
5 I | ] |
S e 0Z51 . 71 [T
g . O _
v X | :
. i ﬁ EETH w‘./ m =
mr__u_r__n_LDr_m.T_n_n_m.Em_L._. __.. ; m-/ _ { __ “ f | uspssa us reysbufs
.nu|ﬁrm_w.”_. L + : - : UBISFUO]EF WS YIEU YyOng uBSSTW Sgay
A _ \/.. — : UIBYITS
I i ' Bunwsoy isy wsBab usassiuc)aqury wiag
m / _ £ §ousyysrs Braou wuas ‘uvepnad agey arre
" X gll ‘&N 131B1Qu-o4 A = |11 SusuyEy SSp LaJSruosquiy wEp Jog
GAZL =) ayars nequalwesny ._m.__..__ﬁ_wt_u_.\
pun puelsnziajat] i

060%

44



ADDITIONAL INFORMATION

e
TECHNIK

rkules

FUR MENSCHEN

Base body HLS 1600

Pcs  Description No. Drawing | Article no.
1 Upper Frame 1 K 1607-HLS-010-2 15301
1 Lower Frame 2 K 1607-HLS-020-2 15302
1 Inner Scissor 3 K 1607-HLS-030-2 15303
1 Outer Scissor right 4 K 1606-HLS-040-2 15127
1 Outer Scissor left 4 K 1606-HLS-040-2 15128
1 Anti-drop safety device 5 K 1607-HLS-034-2 15304
1 Pneumatic with airbag 6 K 1607-HLS-008-4
1 Pneumatic with air bag and CE-Stop 7 K 1606-HLS-028-3 only HLS1600-16
1 Sliding piece f. anti-drop safety device 8 K 1200-035-4 695-001
6 | Sliding piece 9 K 1606-HLS-029-4 695-005
4 Scissor bolts fixed bearing 10 |K1606-HLS-019-4 690-156
2 Bolts of anti-drop safety device 11 | K1606-HLS-027-4 690-157
4 Locking washer f. mandrel 12 650-205
2 Hex screw M24x90 13 500-617
2 Hex screw — safety nut M24 14 500-631
4 |Washer 25 15 500-615

45



ADDITIONAL INFORMATION

FUR MENSCHEN

erkules

TECHNIK

Dimension sheet HLS 1600-11

ualfeysgJos usBundspuy syosiuyas|
uagefiuy -eo purs asgey s[e

QuQs ) =uyNgagaH <SP =484ENH

7101

6501

ol

DOEL

Y20y Wwg+Qg| E_m_Lr_mu_.mmE_m_EEMij auyngagay

n
T ~
o .
S Gzl W
B 0BG L = =
g691
I - D D - m_r
. - - - -
e
(%]
ul ul - b
G BlO .
L} L} . "
- - = L]
o =
[{w] fd
L] L]
589 o
- il | i
_‘ o o
ey
Jag1 UA
rmy |
»
—e= fer—
Z9E — e —
BEE
B N
0/9E
=
00Ck

46



erkules

FUR MENSCHEN

TECHNIK

ADDITIONAL INFORMATION

Dimension sheet HLS 1600-14; HLS 1600-16

us1eyaguoa usbunaspuy ayostuyaa|

uagebuy eo purs’eyel B11E

wwpg || suyngegeHy Jep sypygny

10l

Qcel

o
.IE..
.| GERT -
- \zZy
= [—
)'l_- = = -._-. = = _—
— —.]
861

0901

Yooy wwog| uaJdyejsbuswwesnz auyngagay

k

—
m
L]

———=x

DEO¥

= 8/51

gLl

C¥y

Sh¥

9961

ey

0901

¥86 |

a7



